Government Tender Notice

Invitation of Tender Notice Nos. 59,60,61,62,63, & 64/SERI/ENG/CIVIL/RKVY/Nadia/2017-'18.

Sealed Tenders are invited by the Executive Engineer, Directorate of Textiles (Sericulture). 45, Ganesh Chandra avenue (2nd floor), Kolkata -13 for the following works in different places in the district of Nadia from the bonatide experienced and resourceful contractors having experience in such type of works in pure Govt.Deptt./Office/Zilla Parishad.

| NIT Nos. | Name of the Work. | Estimated Cost. | Earnest Money | Place of Work. | Time of completion of Work. |
|-------------|---|---|---|---|-----------------------------|
| 59 | Installation of 150mm. dia Tube-well by P.V.C. pipe including supply & installation of 5-HP Sub-merssible Pump Motor at Vill. Polsunda, Bethuadahari T.S.C., Nadia under R.K.V.Y. | Rs.3,72,636/- (Rupees three lakh seventy two thousand six hundred thirty six) only. | Rs.9,320/- (Rupees nine thousand three hundred twenty)only. | Vill Polsunda, Bethuadahari, Nadia. | I(one) month. |
| 60 | Installation of 150mm. dia Tube-well by P.V.C. pipe including supply & installation of 5-HP Sub-merssible Pump Motor at Vill. Kinopota, Bethuadahari T.S.C. in Nadia under R.K.V.Y. | Rs.3,72,636/- (Rupees three lakh seventy two thousand six hundred thirty six) only. | Rs.9,320/- (Rupees nine thousand three hundred twenty)only. | Vill. Kinopota. Bethuadahari. Nadia | -do- |
| 61 | Installation of 150mm. dia Tube-well by P.V.C. pipe including supply & installation of 5-HP Sub-merssible Pump Motor at Vill. Notun Noapara under Dhubulia T.S.C. in Nadia under R.K.V.Y. | Rs.3,72,636/- (Rupees three lakh seventy two thousand six hundred thirty six) only. | Rs.9,320/- (Rupees nine thousand three hundred twenty)only. | Vill - Notun Noapara, Nadia. | -do- |
| 62 | Installation of 150mm. dia Tube-well by P.V.C. pipe including supply & installation of 5-HP Sub-merssible Pump Motor at Vill. Choghoria under Dhubulia T.S.C. in Nadia under R.K.V.Y. | Rs.3,72,636/- (Rupees three lakh seventy two thousand six. hundred thirty six) only. | Rs.9,320/- (Rupees nine thousand three hundred twenty)only. | Vill. Choghoria, Dhubulia,Nadia. | -do- |
| 63 | Installation of 150mm. dia Tube-well by P.V.C. pipe including supply & installation of 5-HP Sub-merssible Pump Motor at Vill. under Dhubulia T.S.C. in Nadia under R.K.V.Y. | Rs.3,72,636/- (Rupees three lakh seventy two thousand six hundred thirty six) only. | Rs.9,320/- (Rupees nine thousand three hundred twenty)only. | Vill Dhubulia, Nadia. | -do- |
| 64 | Installation of 150mm. dia Tube-well by P.V.C. pipe including supply & installation of 5-HP Sub-merssible Pump Motor at Vill. Batha, Fulia under Dhubulia T.S.C. in Nadia under R.K.V.Y. | Rs.3,72,636/- (Rupees three lakh seventy two thousand six hundred thirty six) only. | Rs.9,320/- (Rupees nine thousand three hundred twenty)only. | Vill Batha, Fulia, Dhubulia, Nadia. | -do- |

Tender Papers (N.I.T.), Priced Schedule & Form: 2911(ii) etc. may be obtained/downloaded from seriwbgov.org at free of cost.

| Last date & time of submission of Tender | 29.01.2018 upto 3-00 P.M. at Headquarters, Kolkata. |
|--|---|
| Date & time of opening of Tender | 29.01.2018 at 3-30 P.M. at Headquarters, Kolkata. |

Tender should be submitted/dropped in the Box kept at Head Quarters. Kolkata and papers should be arranged in the following manner.

2(two) Envelopes as noted above (I & II) should be put in a bigger Envelope and sealed. Agency should write clearly N.I.T. No..... Name of Work, SL. No.......and Name of Agency on this Envelope and drop the same as per scheduled mentioned in this N.I.T.

Technical Bid will be opened first. Financial Bid will be opened only if the Technical Bid is found acceptable.

Labour Cess will be deducted from Bill value as per Govt. Rules. All original copies are to be shown for verification. The details may be seen in the Office of the Commissioner of Textiles (Sericulture), West Bengal, 45, Ganesh Ch. Avenue (2nd floor). Kolkata - 13 on any working days and in website: seriwbgov.org. The Commissioner of Textiles (Sericulture). West Bengal reserves the right to reject/accept all the applications without showing any reasons thereof. If any date as above happens to be holiday the next working day will be considered as stipulated date. Acceptance of lowest Tender is not obligatory.

N.S.C./K.V.P. will not be accepted as Earnest Money. Only the Bank Draft of a Nationalized Bank will be considered.

Notwithstanding anything contained in this Notice Inviting Tender, the other terms and conditions and special terms and conditions will remain binding upon all concerned

Executive Engineer,

Directorate of Textiles(Sericulture), West Bengal.

Memo.No. 1998 / ENG/MISC/RKVY/BoS/6(Vol.-II),

Dated, 27/12/2017.

Copy forwarded for information & necessary action to :-

- 1. The Deputy Director of Textiles (Sericulture), Krishnagar, Nadia.
- 2. The Notice Board of this Directorate, Headquarters, Kolkata.

3. The Website of this Directorate of Textiles (Sericulture), West Bengal.

Executive Engineer,
Directorate of Textiles (Sericulture),
West Bengal.

Priced Schedule for installation of 150mm dia. tube well by P.V.C. pipe including Supply & Installation of the 5 HP Submersible pump motor of Ibai Sk at village –Kinopota under Bethuadahari T.S.C., under R.K.V.Y.

(Assistance to farmers for Development of Irrigation System)

| | (Assistance to farmers for Deve | | | | |
|-------|--|-------|----------|------------|-------------|
| SI.No | Description of item | Unit | Quantity | Rate (Rs.) | Amount(Rs.) |
| 1. | Supply of PVC rigid pipes & fittings (medium duty) conforming to ASTMD - 1785 and threaded to match with GI Pipes as per IS: 1239 (Part - I). A) PVC Rigid Pipes | Mtrs. | 80.00 | 1498.00 | 1,19,840.00 |
| 2. | i) 150 mm diameter. | M+n | 20.00 | 016.00 | 10 220 00 |
| 2. | Supplying PVC strainer of approved make with adapter conforming to I.S.12818 specifications. 150mm dia | Mtr. | 20.00 | 916.00 | 18,320.00 |
| 3. | Supplying fitting fixing plug of approved make confirming to I.S.specifications. i) 150 mm.dia. | Each | 1.00 | 155.00 | 155.00 |
| 4. | Labour for boring tube well of required dia. by water jet system through any type of soil strata including hire and Labour charges for boring pipes, scaffolding, tools and plants as necessary and taking out them and lowering pipes, strainers, blind pipe etc. and fitting and fixing the same complete including bucket washing and other incidental works in the connection. The tube well should have a minimum 50 mm gap in between the outside of the tube well pipe and the bore. a) For depth up to 250 meter for 100 mm. dia. Tube well with top enlargement of 200mm dia. i) First 50 metre. | Mtr. | 50.00 | 1078.00 | 53,900.00 |
| | (ii) Next 50 metre. | Mtr. | 50.00 | 1060.00 | 53,000.00 |
| 5. | Packing the annular space between the outside of the tube well pipes & strainers and the bore with pea size washed gravel of approved quality having size from 2 mm to 5 mm or the size approved by the Engineer-in-charge including cost of all materials labour and equipment complete. | Cum. | 4.00 | 2050.00 | 8,200.00 |
| 6. | Geophysical investigation of the aquifer by electro logging system with all tools and plants as necessary including supply of necessary report. | Item | 1.00 | 8329.00 | 8329.00 |
| 7. | Washing and developing tube well with air compressor pump and engine for 8 (eight) hours continuous pumping per day with necessary arrangements for testing the yield in gallons per hour with 'V' notch including hire and labour charges for all tools and plants and scaffolding as required. | Day | 2.00 | 7613.00 | 15,226.00 |
| 8.0 | Supply & Lowering 5 H.P. 3 ph. Submersible Pump-Motor set of TEXMO make (Modal No-HMF60/14) in the existing well. | Each | 1.00 | 37728.00 | 37728.00 |
| | TO III | L | 1 | - AVG | 11110 |

Executive Engineer,
Directorate of Textiles (Sericulturte),
West Bengal

| 9. | S/F Submersible cable Finolex make | Mtr. | 50.00 | 101.64 | 5082.00 |
|-----|---|-------|-------|---------|----------|
| | suitable for.5 H.P. 3 ph. Submersible pump-motor. | 11011 | 30.00 | 101.01 | 3002.00 |
| 10. | S/F Control panel suitable for above 3 ph. Submersible pump-motor L&T make on angle iron frame on wall. | Item | 1.00 | 6757.00 | 6757.00 |
| 11. | Supply of 75 mm dia UPVC Column Pipe ASHIRVAD (Wall thickness min 5.52mm-max 6.15mm). | Mtr. | 30.00 | 535.15 | 16055.00 |
| 12. | Supply of 100 mm dia GI Bend. | Each | 2.00 | 871.00 | 1742.00 |
| 13. | Supplying fitting fixing Top bottom Adaptor of size 75 mm. | Set | 1.00 | 1270.00 | 1270.00 |
| 14. | Supply of 100 mm dia GI "T". | Each | 2.00 | 677.00 | 1354.00 |
| 15. | Supplying, fitting and fixing25mm (light) G.I. pipes of TATA make with all necessary accessories, specials viz. socket, bend, tee, union, cross, elbow, nipple, long screw, reducing socket, reducing tee, short piece etc. fitted withholder bats clamps, including cutting pipes, making threads, fitting, fixing etc. complete in all respect including cost of all necessary fittings as required, jointing materials and two coats of painting with approved paint any position above ground. (Payment will be made on the centre line measurements of total pipe line including all specials. No separate payment will be made for accessories, specials. Payment for painting will be made separately) | Mtr. | 10.00 | 308.00 | 3080.00 |
| 16. | S/F 75mm. M.S Clamp with suitable nuts & bolts. | Pair | 1.00 | 520.00 | 520.00 |
| 17. | Supplying, fitting and fixing G.I. cap at top | Each | 1.00 | 598.00 | 598.00 |
| 18. | Earthling the whole installation by 2" dia 10' long G.I Pipe and as per P.W.D Schedule. | Each | 2.00 | 1660.80 | 3322.00 |
| 20. | S/F 32A TPN Main switch (HAVELLS) with fuses on LS & NL on angle iron frame on wall. | Each | 1.00 | 2402.00 | 2402.00 |
| 21. | S/Laying 4 core 16sq.mm PVC/A cable partly in the underground trench as per PWD schedule & partly embedded in wall as per PWD schedule from O.H line to main switch. | Mtr. | 15.00 | 346.00 | 5190.00 |
| 22. | S/F 32mm dia protection pipe as per PWD Schedule. | Mtr. | 10.00 | 354.00 | 3540.00 |
| 23. | S/F Steel strain wire with PVC coated for fixing of pump. | Mtr. | 60.00 | 110.00 | 6600.00 |
| 24. | S/F 80mm/100 mm dia GI reducing socket. | Each | 2.00 | 512.00 | 1024.00 |

TOTAL=Rs.3,72,636.00

Executive Engineer

Orrectorate of Textiles (SericultureGovernment of West Bengal